N — 1;@1@&1@ (uSu/h)

m 50cm 5em

1 eE = 012 | 013 | 0.13

2 VLB e 0.17 | 0.18 | 0.15

3 |keraigt a2 017 | 016 | 0.14

4 |LghE B3 0.18 | 0.19 | 0.19

5 |RyFE B3 0.16 | 0.16 | 0.16

ESS = 0.17 | 0.16 | 0.13

IRV E! 1% 011 | 0.11 | 0.12

8 W=z Ri-vay 1% 0.10 | 0.10 | 0.09

U 1% 0.10 | 0.09 | 0.10

[NEEPEL 1% 0.09 | 0.09 | 0.09

1 |EABERYAKA 1 Lyh 011 | 0.12 | 0.19

12 |Bighg 1% 0.12 | 0.12 | 0.10

13 |EABERYAKRA 1% 0.13 | 0.15 | 0.25

14 |RyFE - 0.10 | 0.09 | 0.09

15 |[RUFH ILB 0.13 | 013 | 013

16 |RVFH A#t 0.14 | 0.15 | 0.16

17 |RUFH Eif 0.11 | 010 | 0.09

18 |EFH 1% 0.15 | 0.17 | 0.2

|4 19 |(REFTH 1% 0.17 | 0.18 | 0.2

8 0 [RUFE A#t 0.17 | 0.17 | 0.19

3 A |[RUFE ILB 017 | 018 | 0.21

Gt 1 | 1% 016 | 017 | 02

u & B RVFH ) 0.15 | 0.15 | 0.1

" o e U |RUFE ILB 0.14 | 014 | 014

: O°U°0°@W@@§;ﬁ % |Exnt sl 0.16 | 0.18 | 0.15
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